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Induktion

1.)     a) geg.:      lF  = 10,7 cm
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ges.:  Ui


                A = 20 * 10-4  m2 

                d = 0
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        b 2)  geg.:      ( = 45°





ges.: Ui2



 Lös.:       As  = A * cos 45°



Ui2  = Ui  * cos 45°



  As  = 2 * 10-3  m2 * cos 45°
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2.)   geg.:      l = 1,45 m
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    nF  =  43500


     IF = 8,5 A


     ni  = 800


     A  = 5,85 * 10-4  m2


        Ui = 45 mV
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        (t = 3,3 s


        (tges = 6,6 s

3.)   geg.:       A  = 8,2 * 10-4  m2




ges.: (B


        ni  = 180


        ( Ui  * (t = 2,8 * 10-3 Vs

        Lös.:       Ui = ni * 
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4.)     a)  Lös.:       Ui = - ni * 
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                 Ui  = - v * l * B

            b)  geg.:       l = 14 * 10-2  m



ges.: Ui  ; n



    v = 2,4 m * s-1



    B = 1,8 * 10-1  V*s*m-2



    Ui  = 200 V


     Lös.:     Ui1  =  v * l * B



    Ui1  =   2,4 m * s-1  * 14 * 10-2  m
* 1,8 * 10-1  V*s*m-2



      Ui1  =
0,6048 V



    Ui1ges  = 2 * Ui1  = 1,21 V




    Uig  = 200 V   (   Ui  = 100 V



    Ui1  = v * l * B * n
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      n = 165

5.)        a)  geg.:         l = 0,12 m



ges.: V



     B = 4,8 * 10-2  V*s*m-2



        n  = 250


    Lös.:       Uiges  = v * l * B * ni                       v = 
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      v = 2,08 m * s-1
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